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method =cloud.verify.by3element 3% &
method =cloud.verify.by4element 4% %
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[mobile|/2|string|FHL 5G|

| real name|f&|string|Eszit4 |
|id card|/=Z|string|&#HiF S|

sl [1] 735 oo
{

"RequestId": "5cb689fc740f5-PTLGt1-IsM1IsMC-15566",
"Code": "Success",
"Data": {
"msg": “iERAIL,
"result": 1,
"spent": 0
b
"Message": "",
"Time": "0.099943s"

}
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|msg|int |58

| result|int |@IIERM TERTY |
| spent |int | OATEFEEL 1AL |
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|mobile| & |string| FHL 51

| real name|f&|string|Hsit4 |
|id card|f|string| SHiESiY |
|bank_account |/ |string |47

RN
{

"RequestId": "5cb68addb792e-EmRKb1l-BvrcPCcl-25025",
"Code": "Success",
"Data": {
"result": 1,
"msg": "INIE—E, I,
}’
"Message": "",
"Time": "0.818574s"

}
{

"RequestId": "5cb68addb792e-EmRKb1-BvrcPCcl-25025",
"Code": "Success",
"Data": {
"result": 0,
"msg": "INIEAIER”,
b
"Message": "",
"Time": "0.818574s"

}
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msg|int |52 |

| result|int |OIAIERIK 1GERD) |
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